1} Evaluate to 2 decimal places 4) write each calculator 71 Evaluate to 2 dec. pl
[ where necessary )

al ) display as a basic numeral| al 785 + 1 86
V34T = a) 513 04 (40 -23)3
by 7.6 - 49 = bl 28 -03 -
¢} 742- 462 - c) 1.2 03
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=1 - 51 Find A3
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1 086 - Gla) & shop has a 20% =

discount sale. Find the cost

h (% ) 4 - af an article with a marked 41 35 z0
: : price of $75 (show working T7 T 112
2) Evaluate to 4 significant _
figures.
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by /31 = (6.1 + 3407
o 1 :
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2 6.3+ 51—1 = b} Alison deposits $95in a =
savings ;n::n::u:uunt, receiving |y 4335 y 0.0057
gl 1 14%Z p.a. interest. How much
- of 79 will this amount to after =
1 year. {show working) 3
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